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x——>0x41+x+JI —X

(A)2x+1
! - @© 1+2{ ;e lim 1[ 2x ) |
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8 - 3 3. 3 | L
Solve:y2=4x=>y=_2'\/;=xz=4x \bbl"[ dy =PO?
' 5¢>”
X -4x=0=>x(x-4)=0=>x=0,4 ' | |
13 it = ki
(D) _Llew b
15 T

Get all University Info From www.admissionwar.com

Scanned by CamScanner



Download More Question Bank From www.admissionwar.com

S lve —_—-— +C . ——_ y |
.o IS YR - 25 gnficai, Ql+tan \/a +£’72
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(A)( —) (B) (2 ﬂ] , V| sin 2040° 9T IF T2 N
g N3 V3 oy 2 -2 .
(C)[427ﬁ] _ .(D)[4,4Tn] W= e 0F O

Salve: Sin(2040")=Sin(2x 90" +60°)

Solve: R = \!1+3 =2=0= mn-l[ﬁ}

N 27r ( 2%] 1 . 4 ]
= — 2,— l1—-tan 4
ol | B) cos24 = |
i3 | A A | VTN ( ) " 1+tan A4
R 1 (a, 0)0, b)1, 1) e R =18 @by, iR 4 Dyweprw.
- (A) atb=ab (B) a-b=ab AN " 1+tan® 4
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- Po? - -
(ab+0+0 0-b- a) 0 (A) 12 127 (B) 15 7
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Solwfe:)()pﬁon tes)t. ( (C) 17 ms” ~ (D)10ms” @
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